egoxerdeq "] 'H = \:& Jvodrermuey, YA 000 210ged MOHLEWI-OHLH90dU OU dOHIXKH| (IUILUHIOLIDY

eg0noAd V'Y Jvodidreinuey, YA 000 daluveixAg uigHgel |
a0noAd "1'g R Joduernuey, YA 000 doryadut niaHaredaHs |
sroll o€ | €TLec vt~ | 00'60€ 1 | spLild 000 ISPIF ¢ 00295 0069 | ug 661LL 6 1898 | ozzos Ll | eociost | ww ikt o, it
3 ounatraedu £ rondoay |
8y LLL L 000 1SpIv ¢ 00°159 00°11L9 66°€68 11 £1°098 09°20T LI £9°610 S KOH . y & el
- Ou G 10109 ADH Wouday|
8y LI 00°0 ISPy € 00°11L9 66T 11 1£°€16 81°99C 81 £9°610 61 10
00°961 1 Sy LIL L 00°0 ISpIv € 00°79 000179 up 66°61L Tl 1oiL S1°zoT vl £9°610 S H2D
8y LI I 00°0 ISPy € 00°296 9 66°86Y 11 61°6SL LL7EOI €1 £9°610 S Jge
SyLLL I 00°0 1Sviv € 00°01¥ 9 66" 176 01 98°1L8 vI'LEy L1 £9°610 Sl o
00°68C | 6£°650 | 00°0 1€°65T € 008k T 00°9L9 00°01¥ 9 0L°LILSI 651789 1L°169 €1 90°20€ ¥1 HOM
6£°650 1 000 1€°6ST € 00019 0L'¥TL Ol 9 SSL TT601 S1 90°C0€ ¥1 uew
6£°650 1 000 1€°6ST € 00°SLS € 00°L9T L 0L°9SI §1 6¥°906 €L°6T1 81 90°C0€ ¥1 due
00°8€l | 6€°550 1 1Tir 8 9€°SKS T 00 ¥l 00°SSI § L86VL TE 20910 1 1€£°0T€ 0T 18°519 7T dew
6€°550 1 1Ty g 9€°SKS T 00°L8€ ¥ L8°66€ 91 69°LY6 VL'ES6 81 18°519 TC RELY
6£°650 1 1ziv e 9€°5hS T 00°TLS S L8'V8S LI 05878 S0°0LS 91 18°519 T aHK 01'vol1 €
00°0 86'¥9L LSI- | 00'T68 ¥ | TT'LEO €I £€°9€T ST 90°106 LE 00°990 SI | 00°SLS € | 00°€IT 1 | 00°8TK T 00°9L9 00°6LL 1L 19°€08 SLI | v¥'LITOL | 08'8¥ET0T | 6€L¥8 00T 09°61F € | S6 eadIERHO)|
gz EEe | €3 £ 5 4 s §25¢ v g g2 Z Ees | 528 | 7 @ g g g & 2 5
£2 [ EQd | 8| 33 5 g SE8E | B |38 | F | E82 | 9235 | Z = 3 3 3 E E
S = 8 = g £ = O - = 853 £ = = o g m £ g g S §® k<1 e Q -] = = - 2
5= = & > 5 o Z 388 2 @ é B 5] e 2 E EE Y = < 2 <] ) »
° -] ) 5 S o o 2 5 b= £ =2 ) = 8 S 2 o e & =
8 | 328 | EC . 32 §55% 2 S 22 8 |BREalaoi | @ s g 3 g 2
g g g OB o = =z Qe s m 8 & S @ < 6 e 2 % ] g g S
2 8 B = < @ o o e = 2 3 E 8 q a9 = ] g =l H
z ) s st = 5 = <] % 2= 2 A ® 3 5] o & <] =
6 o ) 8 | z =2 =] o @ = = = x -
23 i 7 g 53 £ s | S8 | F | 2ss |5EE | ¢ F 3 = e z
s 5 5 A= = = 3 3 S o i S @ 5 ol il s 8 § = & 8
E = £33 ‘e g 3 Eg: 5, £ = g 5ZE | "=E | B - y o
5 < s S = =) =2 5 35 ls) = = 6 o 2 N E o w =
w = B = o = 3 E 3 3 E o = zg b 2 @8 3 = 7y °
= = = 2 @ ] S g 2 ) % = = 3 =B g B z
& M = ] = W B o = o te & m mA B .m m 1
s = 1 g g3 e 8 g8 &g g 4
Z 3 @ 3 2 o B S g 3 F - z &
= = & 3 =} = B % =] =z
s 5 g ¥ : 5 2 i3 £ 5 =
0 g 3 5 B Y " SEE ; 5
5 B o g 8 S =g H =
35 = s 2
(=]
S TN OIMHY X A0 OLI -0 "§ o 109Vd XIIHHAHIOLIGE MIDThUINV® 1917Ud 3

"Alf0_1 5102 g YITHO® OIOHIMINLIMXK OIMHY)XJIT0D OL XYWOI XIGHdULdYSNOIOHIW g 109Yd XIGHHIHLIOLIGE UNDTRULNY S 1ThA UMNIIRULNLIVHY




